ng/L ng/g-dry ng/mé
a- “to- 15
15 =
15
15
[1] =
" W17 | 9/15 | 3/5 |nd 1,000 264 °
5 H29 | 21/25 |21/25|nd 5,300 14 2
10,000
ss4 | 0/24 | 0/8 nd 20000
H6 | 6/21 | 3/7 |nd 27,000 6,200
[2] 2,200
HLT | 24724 | 878 | St 33
350
H29 | 26/26 |26/26 | 50 0o 37
Ss4 | 0/27 | 0/9 nd  |5,000 50,000
03] H2o | 2/26 | 2/26 | nd 13 6.2
ss4 | 0/27 | 0/9 nd 300 1,000
H29 | 50/71 |17/24 | nd 520 1.1
[4] am H29 | 14/25 |14/25 | nd 0.37 0.023
S51 | 0/20 | 0/5 nd 100
5] |1,2,4- Her | 1/90 | 1/30 | nd 32 31
W29 | 1/23 | 1/23 | nd 110 33
(51 o S60 | 0/72 | 0/12 nd 0.05 150
H29 | 0/45 | 0/15 nd 1.8
[6] S60 | 0/72 | 0/12 nd 0.02 100
[8-21 m- H29 | 0/45 | 0/15 | nd 0.91
(53] S60 | 0/72 | 0/12 nd 0.02 50
P H29 | 0/45 | 0/15 nd 1.4
ss1 | 0/20 | 0/5 nd 100
H29 | 8/26 | 8/26 | nd 9.5 0.11
[71 ss1 | 0/20 | 0/5 nd 10
0.58
H29 | 68/68 |23/23 | 5 o 0.34
55 | 2/36 | 1/12 |nd 1,000 1,000
[s] H6 | 1/21 | 1/7 |nd 5,000 5,000
H20 | 26/26 | 26726 |50 4,500 31
S6L | 1/73 | 1/12 | nd 140 100
] H3 | 42/49 | 16/17 | nd 160 2
H14 | 15/18 | 5/6 | nd 14 0.7
H29 | 9/66 | 3/22 | nd 140 5.4
[10] H14 | 6/27 | 3/9 | nd 4.6 0.77
H2o | 16/51 | 8/17 | nd 9.1 5.4
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